Starburst 6 Grade 5 Order of Operations

Name:
Teacher:

25 points total. Each equation is worth one point. Only
take off one point if they wrote in the answer vs cut and
paste (not following directions).

1. 8+(24+4)=]14 1
6. 12+(9+3)= | 15
2. (8+24)+4 =| 8 —
7. (7x3)+5= | 26
3. (3x6)-5= |13 —
8. 7x(3+5)= | §f
4.3x(6-5)= | 3 —
9. 7x(18+6)=
5.(1249)+3= | 7 X ) 2_1




1. 10-6x4+8=

2. 9-3x8+6=

3. 10+3x8+4=

4, 8+4x3+6=

5. 8x2+4x8+4=

6.9+3-2+6+3=

7. 10+35+7-2x3=

8. 9x8+12x5-7=

9. 3x4+8-6+2=

= N W = —

1. 8x6-(4+3)=

2. (8-3)x(7-2)=

3. (9+6)+(7-4)=

4. (3+2)x9+5=

5. 24+(20-6x3)=

41
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